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1. Mark and label the location on the given unit circle where the terminal side of each angle listed
below intersects it.
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2. Write the exact coordinates of the point on the unit circle for each angle in the space provided
below. Fill in missing degree and radian measures.
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3. Find the exact value. Show all work. . \ \ _l_
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4, Find the exact value of the following trigonometric expression. Write as a single term. Show all

work.
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5. Find the value of 8 on the interval [O', T—;] Use exact form. Show all work.
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6. Illustrate the locatlon of angle 8 = 470° on the unit circle prowded A
a) What is the measure of 8 in radians? Leave your answer in terms of T
7, in reduced form. Show all work. / °
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b) Find an angle co-terminal with 8 that is between 0° and 360°. . ]
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7. Anpointon acircle, P, is (-1, -6). Find sin(8}, cos(8), tan{#), and sec (£). Use exact form. Show all
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8. Given a circle with radius 4 and the given angle measure; find the exact yalue of the coordinates of

the point A. Show all work. \CJ | A 9\@)
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9. Ifsin{@) =- and e 9 < 7, find the exact values of: (Show all work),
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10. Answer True or False. / fe’ : .
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" a) Theperiod ofy = 5cos(8) +3ism A hi
’Y b) The domain of y = sin (x) is (—00, ©) \ ‘%
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11. State the amplitude, period, horizontal shift, and phase shift of f(x) = 4sin Qf + %) -6
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12. For the graph in Figure 1,

a) Estimate the period, amplitude, and vertical shift.

Period (; Amplitude: C;)\ Vertical Shift: \

b) Find a possible sinusoidal formula.
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13. Graphy = 3 cos (nx + g) —1. Show all steps and work leading up to the graph. G’Wﬁ* P\"\ 2 Cé‘)(; L
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1. Convert53.72°to D° M'S". Show all work.
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2. Youwalk3 mlles alound a circular lake. Given an angle in exact radians and approximate degrees,
which represent your final position relative to your starting point if the radius ofthelakeis5

miles. Show all your work.

o
- 3+ 07
D

ot

150°

(o 2= 245

3. Find the area of the sector of a circle of radius 7 ft formed by an angle of 35°.
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